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Question Paper Specific Instructions
Please read cach of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Cundidate has to attempt FIVE questions in oll.

QRuestions no. I and 5 are compudsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from eacl section.

The number of marks carvied Oy a question / part (s indicated aoainst it

Answers must be written i the mediune authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer 1QCA) Booklet in the space procided. No
marks will be given for answoers wrilten n a mediunt ofher thean the authorized one.

Assume suitable data. if consicdered necessary, and indicate the same clearly.

Normal probabiliiy distribution (able s attached for necessary refercence.

Mtempts of questions shall be counted in sequential order. Unless struck off. attempt of a question

shall be counted cven if attempted partiy, Any pagse or portion of the page left blank in the
Question-cum-Answer (QUA) Booklct must be cleariy strick off.
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SECTION A

Q1. (a) UF HUd k Hiupl b 3411:1?{ I T F 5,000 U HHEF [d=eM
T 1,200 2 | UHT G4z ohat e & T TUria Aiaehl o \ﬁmdm:l?u-l :-i—r{i% |
144 =TT AfHeR1 1 547 Tz 131 Tl #19d A1 T 5,500 918 T3
T U8 hal A Hehdl 2 Tob ¥UIHT AMehl I 313 T F99EAT 9 T 79 o
g 3 7 (=005 ST $iTau)
The mean annual mmcome of workers 1n a company 13 T 5,000 with a
standard deviation of T 1,200. It 1s suspected that local workers have
higher than the average income. A sample of 144 local workers 1s drawn
and their sample mean income 15 found to be T 5,500,

Clan it be said that local workers have significantly higher income than

the total population 7 (Usc v = 0-05) 10
by BT dfvae TR & U F T8 US4l (ATRSIEA) ® ARH S A Ud

[Fefaehle FH] THE 3-HHH HUFA F gEl whiA-hH H HAIG-2TEGA Y9

(Ug H1.U4. ) T A9E 8 Y

What Supply Chain Management (SCM) strategies were adopted by

leading e-commerce companies such as Amazon and Flipkart during the

lockdown period caused by the Corona Pandemic ? 10
(¢)  HIAT YUITe] SAAHT ATEAT 1 GG U o4 H HEEAl a6 [hH ThI

fagieds® A1 ¢ Hehdl 2 7

How can information system bring competitive advantage to business

organisations by supporting managerial decision-making ? 10
) uek syfiterehl ufaem 9 fves e 2 foedl favm g4 6 fefu %3 &1 Ard

> 350 9fd 37291 vd T 22 Ufd 1 BT | THH HIA TEA (sréaraf‘i ;4-,“.:5':') &

AT 35Ed "1 1 154 2 | UfEEHE gd9 1 7 T 2,20,000 Iod @ 94l did 99

@lizdl 2 |

d) AT STEE AT (3,391,909, ) <kl TOHT SHITAU |

i) TS Ahedd #1391 B fhdd e 21 i sld Bl 2 2

An engineering firm has determined that for a particular part. the cost

of purchase is T 350 per order and T 22 per part. Its inventory carrying

cost 18 15% of the average inventory. The firm currently purchases
= 2.20,000 worth of this part every vear.

(1} Determine the Economice Order Quantity (EKOQ). 3

(it) - What is the optimum number of days supply per optimum order ? 5
() TRIM w1 HIZ {—;_m%iqn F1 3 7 $H 1G9 FAT kAl A A 2 ThIE e AT

A=ehleh ! U1 H Afr{erd F7oM sl Ui i |

What 1s Fisher’s ideal index ? Why is 1t called ideal ? Describe the steps

mvolved in the computation of Fisher's ideal index number. S+2+D
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AREAS UNDER THE STANDARD NORMAL DISTRIBUTION
The entries in this table are the probabilities that a standard normal varate s

between O and 7 (the shaded area)
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1.9 04713 04719 0 04726 04732 04738 0ATH 04750 04756 04761 01767
20 04772 04778 | 04783 0ATSS 1 04793 | 04798 0803 | 041808 04812 04817
2.1 04821 001826 | 00830 04830 04838 04812 04845 04850 04850 04857
22 0ARGLOSGH | OANGS L 0ANTL 0TS 0ASTS | OANST 0SS 08T 04800
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2.7 044965 0.1966 1 04967 04968 041969 | 04970 | 04971 04972 1 041973 00197
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3.0 0987 01987 00987 0OSR 0988 04989 | 001989 01989 019900 0.1990
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Q2. () U TRH A W5 H H 4 gF 9T A dehd)
W 38 " L ar I S Jehd] B | UTfehd -

(A U, S, Y AT T T ek 2
(By St SR CHY A1 [T o dehd 2, WU geh Hebdl B
(Cy HT S0 G1 e @ Hehd &, TS ge Jehdl B

il

L H 4949 3490 Ug
| IO ShITHU

o

(i) HETEEd Y AR g Ush (T G ek TR T E
ghfd ol feafaai | famew e
% T, T
| o é] - __-_“190 - 1-86 o 18_2_-__
g 164 162 | 166
T T o I
~

i H=TAlEgd 319208 399F TehU 3A1d 2. a1 -9 fdehed =3i4d &0 2
(A A qTEUE
(B HfoiHd H9gue
(C) Blddsy HYZUS

(A2 AT9TTEE =Rl Uil -7 HHT H10)

(1) ‘A’ can hit a target 4 times in 5 shots, ‘B 3 times in 4 shots and 'C’
twice in 3 shots. Calculate the probability :

(A) ‘A, ‘B, ‘C all may hit the target. 2
(B) ‘B> and ‘C” may hit the target, but ‘A’ may not hit it. 2
(C) ‘C’and ‘A’ may hit the target, but ‘B’ may not hit it. 2
(11) A decision problem has been expressed in the following pavoft
table ;
 State e [ Altomatives
A, A, Ay

TTTE T s s 8

-~ E, 164 | 162 166

_ E; R T Th __!. T
Which alternative will be sclected 1t the following criterion 1s
used ?
(A)  Maximax criterion k
(B)  Maxamin criterion 3
(C) Hurwicz's eriterion k|

(Assume degree of optimism 18 0-7)
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“qaedenl ZP1 U @ 9 e gEEar aunel (S1.0H.UH.) ug gEed

A= U (UH.3118.04.) &@8d 3991 2 ) fernft ifau vg w9 3
& THIT H Tk 21U |

SI.UH.UH. Ud UH 8.5, H hH 3d7 Tha1 AT Ghdl & 7

UG UH. & HJAd F7 A

2I-ANAd Ud & A-Add SLUH.UH. F s #E HHEAU U
STEHHATU & 2

“Decision Support Svstem (DSS) and Management Information
Svstem (MIS) are very helpful for managers in taking decisions.”
Comment and support vour answer.

[How can DSS be differentiated from MIS
What are the components of DSS 2

What are the similarities and dissimilarities between data-driven
and document-driven DSS ?

N L

Uk UTART ThE] 390 1 gfqeenfod s @ fa=m 2 731 2. fage
TqH AN T 4,000 7 Ud I9Id § Fhd Yo 0 2 | IV &b 79T P
T2 i1 7T o $6 3901 o T dNd U2y 9y o O Ag) fGdm 99

i

H 21,0003 | 957 J@ Ufd a9 T 300 T Fedl 2 |

(A) AR AT 0 (I ) A1, @1 3RO T e UfaETd
hi A EIIL;-:U‘ ‘,}

By gl eare g 124 @1, 1 39HI00 FT ohe TARATYA iy Fifzu o

“HIA (3g=¢1) I Uk Fehard ufshar 2 590 31emr [Huig 98 =1

32

A forw 319 2 | "99gIeu |

A firm Is considering replacement of an equipment, whose first

cost 1s ¥ 4,000 and the scrap value is negligible at the end of anvy

vear. Based on experience, it was found that the maintenance cost

15 zero during the first vear and it ts T 1,000 for the second vear.

[t increases by T 300 every vear thereafter.

'AY  When should the equipment be replaced if the interest rate
15 0% (zero percent) ?

(B) When should the equipment be replaced if the interest rate

s | B

“Inventory Control ix a rational process in which decision-making
1s olten done irrationally.” Explain.
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Q3. () () SHATAH gPAkhd] P 2 7V b dehAlsh] FaEE] 36 9 YHEd YT
qsl & ¥

(1)  3IMET % WX EY] U9 gumed § fonifza fafye uwm &
T oh-TshAT3T <Rl 994 AT |

(1) S-IMHA o fehdTaad & o0 9Hd 9ihr & UHTET UG 1] &l (do=m

AU |

1) What 1s e-business architecture 7 Which technological innovations
have had a major impact on 1t 7 3

(1) Describe the four pillars of e-governance and the various tyvpes of
interactions pertormed in e-governance. 3]

(111)  Discuss the Indian Governments efforts and actions towards
implementing e-governance. a9

by (b TetettEE thaes (SHEE) umrHn 9w B AT (UT%hehel ) TdiY |
a7 hIT U

AT AAdH hiAT
C = bx; + 6%,
xg +x, = 1000
X7 = 300
X, = 160
X, %, =20

=

(i) U fAfv=ad 2a1 1 T2 1 3 4 H 99Tl 8F H 2@ a1 A7
AZ-F%™ | Hifgd 500 =i 9 R0 70 T § 399 F 719
Ud 37 1 =T el MiAAT 41 178 |

aif e

terfaa ol 0 i o 9= 61 giaishane 23 &1 178 B
 sEm | wmm | qEwREms @ awe A
CoE 150 30 70 J
i Miferat 130 . 40" 80

Pl | 280) 70 | 150 |

g = ] 0 .y —_———— ] J—

L

! S
ST ATRS! & LR T #1 J2 ehy MRl 51 Hehdl 7 1o 2d1 37
A

=11 =] M & 99Td H Hawequl (967 2 7
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(1) Solve the following Lincar Programming Problem by Graphical
Method
Mintmize cost :
= :'3}(1 + ﬁ\i
subject to
X1+ x, = 1000
Xy = 300
X, = 150
Xy, Xy 0 0
(1) A certain drug 1s claimed to be effective in curing cold. In an

expertment on 500 persons suffering from cold, half of them were
orven the drug and the other half were given the sugar pills.
Patients’ reactions to the treatment are recorded in the following
table :

! .

Treatment Helped ~ Harmed No Effeet

Drug | 150 sy DS

: _QLI;_"-',{H 1;i]l:-; . 130 ;_ 10 .— S0 -
 Total | 280 | 70 | 150

On the basis of the above data, can it be concluded that there is a
significant difference in the effect of drug and sugar pills ?
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() (1)
(11)
(1)
(11}

fep (1)
(11!
(111)

-MGATT

‘T FqEF A4 TdUddE 32 ok v “9dM 3E faEm e " g%

Hheqd] =l AN] hilAU |

Gl fafaumr &0 ZHT 10 1 THAT ATHT (A J-Hs:i) 3T H Al
2 | faaet 10 A1 & s fmfaigd Arfl 9 7o mu 3

Wwwﬁ' Fed A l
ISEE=IN _'5h|$"1“
150 | 1,000
vry favams 2 |ch T2 uue (Taren) wmr= aftfeafamn (o) 5 A

Fefetd &1 7@l & |

(A T Fst & =y v fEEe = sAEe Aife S| gt
(97d1) W ed HTUT T8 SR 1 950 AU HHIST b 3Fal THA]
FAT0 |

(B) HH SAITA0 Teh 3707 5 9941 § 219901 $hISaT hl HIET .

3.4.2,009 732 |

AT (UTfehar) =9 g gzivrd v o @ uigar Haam 9 2
HAYAT Tal |

Apply the concept of “Decav Curve of New Product Tdeas” to an
innovative product hike ‘e-Bike'

A manufacturing company alwavs uses a sample size of 10. Data
tor the past 10 samples are as follows :

Number of | Total Units
Defective Units ) Sampled oy
150 ; 1,000 i

The svstem 1s believed to be operating under normal conditions.
(A) Construct a control chart with control limits such that
measurements for 959 of the units under normal conditions
would fall within the control Iimits.
(B) Suppose the number of units defective in the next 5 samples
are ;
304,20 and 7.
Demonstrate graphically whether the process i1s under
control or not.

8 TR Heqeld 71 Mithddl 1 ANTd %1 %A $d] 2 2 WbE JqeH

U] ] B OhH . JlHHf*’l =TT #RT GUlg hIfAU |

gery.3. SHA1 % vezl W “Gd UEHE] 85 A Ud-ad &1 fZar A

 —

Oehdl 2 | Taud FATE 3cqed Uofaddl & T29 § =8 $yd i [ad=-

1o |

Uk HitdH? faenfad id arefl swrg 7 Tamm-famy’ e F gEea §

14 sed, eedeh dcd Ud HI2T ecleh "o hl 441 YiHE 214 2

()
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How does the balancing line reduce the cost of idleness ? Deseribe

the steps involved 1n solving a line balancing problem. 5
W.E. Deming said, “85% of poor quality can be attributed to
management”’. Discuss this statement in the context of World
Class Manufacturing Systems. 3
What role 1s plaved by Green belts, Black belts and Master Black
belts for managing ‘Si1x-Sigma’ quality in a Software Development
Company 7 9
For a project, the following information 1s given :
i Activity Node | P:xpectod‘ A{:}?qty ‘
y ‘ . | ~ Completion Time
A DT VN
! B 23 |10 ‘
_ b R
b 2-5 5
K -6 6
N -6 _ 9
B T - T S
H_ 6-7 | 1
] R I e -
L e R T
(A) Draw the network diagram. k
(B3 FFind the eritical path. 2
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b (0 &R TSl w1 3kl 2eET U gdl {did & AT W B g 7]
TN 2 | it HEEEEd 10l [HehlleAU -
" CafrEan 0 emEn - malwala
| ' L g . o _
CI 9 ]
o 5 s
P A
: 5 9
w - ol -
I 7 I
| w S Yy
R 9 I 4
B BT’ T
“h 11 10)
S C I S S
Giy e T (Teee fafie) uHa o fgea #0122 Wi i sl SAdEn
F1 faa=n F1f5v | gfpegan glieo 9 @bl 491 39T 2
(1) Twelve salesmen are ranked for efficiency and their length ot
service. IFind the rank correlation coefficient. 5
" Sulesmen | Efficieney | Length of Service |
. O D ey
Q 3 5
- A T8
| £ -\ 5 9
P 5 . T
U T
H ' 'y &
1 9 & -
J w0 1 -
\ K . 1n 10
L 12 1
(11} What are the tenets of Central Limit Theorem 7 Discuss
the concept of Standard Error. What 1s its utility in hypothesis
testing ? S+245
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() (1 TRH % fAu € s d = geee] 2 0

o L = S r s : = - ™,

() ST TR o SATde TR ud 39 o) @mrl bl HHEsu |

o e e £ ~ - ~ G By . o 8 =

i) Theal dd 3. AT TRAadd WHEIAT % 8¢ 4 faar g faged
HITU |

(1) Why is ERP important to a company ? 4

(11) uxplain the economic aspects of ERP implementation and the
hidden cost therein. 2

(1) Discuss in detail any three ERP implementation strategiles. §)
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SECTION B

Q5. (v “Yrd Wb fgehtd § el 3mdae 1 Ba % (AU UTHUT & § 3@ E41Yd
9 &b [0 JIcHTEA 2 @l & | =AWl 110

“The Government of India has been making efforts to remove the
regronal imbalances 1n development by providing incentives for settine
up mdustries in rural arcas.” Elucidate. 10)

(hy (1) 2T sYTidER UhleRd T <k TaiYE TAYT b1 90 hITAU |

(i) HieEe’ & 91 ud fauer #4417 Y

(1) Desceribe the ditterent tevels of regional economie inteeration. &
(110 What are the pros and cons of ‘BREXIT? )
(v M (TaEE) ATk "EA A (Usdad) @ 3Hl okl U oA TF
AT 7 T ST 3H hed § HEAd B 0 U 39 3ETAT :H‘H 7
= 9g =hITU, | HOHATSU T +H 3299 Y2 1 a0 Hid & |
“A vision 1s too abstract to be of any practical value.” Do vou agree with
the statement 7 Justily vour answer with a suitable example. Explain
how objectives form hierarchyv. [0}
(b (i) 39 IR T SATEAT HITAU AT 291 GfAETETeHehAT bl YYTfad id 3 |
(i) 39 IR 1 FHAREU (91 Uk IOl h GTd § =HIGEE A B
AT 1 313 A Zd HodTsA Hi] FTaT, |
(1) Iilucidate the factors that influence country competitiveness. 3
(11 [oxplain the factors that a companyv should evaluate to assess ‘case
of doing business in India’. 3
(o) 9IERITerT Hrsa 1 S 1” tﬂ??ﬂ hH HZIAT HAT 2 2 U qrakifei
gAYl & A1 1Y Ud HETU 2
How does BC(: Matrix holp in portfolio planning 7 What are the
advantages and mitations of such a portfolio analyvsis 7 10)

Q6. v () FIME 3TENEER Jifd 9 3R] IEIEAT 1 YA R g 9 7

(i) “gdHT H dehdrehl-3Indes vEAtad] §Odudieivl 92 ekl Hawd §adl

TR 2 | UTAr SgeaaEd] & 90UEd 7 39 HYF 1 THHIEU |

= * = R

(iii) T 30 F{AUE ZE1 ATV 6 Fe@id] 74 %+ AU 3igad dvel ST
FIEH (A2 H51.A41.) g1 170 A7 72 T99d T2 1 Iga=T1 $iis0 |
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What 13 the rationale behind liberalization strategies adopted by
the New Industrial Poliev ?

“The term
todayv’s techno-economic parlance.”
context of the Indian economy.

‘elobalisation  assumes Inereasing importance 1n

[oxplain this statement in the
Discuss the various mitiatives undertaken by the Indian
Chamber of Commerce (ICC) to promote both national and

international trade.

dfvash H2W W HHEIAT H1 USYd w4 o (AU @Y Sl
(UH.U4.H1.) & gRI 39dT | S8 A diddl =R Hi<hideh gddidal ol
JUT AU |

(&

9T o SR-YE HEh{dAl bl HHGH H HIh
qTEd A-AUEE Ja-dehl &1 3 FHY F11d1 2 2

$ IAE] W ZHLE B

Describe the four cultural predispositions that MNCs are hikelv to
adopt towards managing emplovees m global context.

How Hofstede s equip
international managers with an understanding of cultures across
countries 7

does model on  cultural dimensions

gl % Hod-°TEell HIgd @] WAHe Ud [gdFesh mdaEiadl & €@k &
F-AHFa=4] ] TFETTU |

=

-

qed->Tacll [aveiyu hg Hallcia [oha1 S1d1 2 2 3218
HUZU. |

F1 TEEdT I

22

“TuTT FTEET & 9T hidl &, =T W S & widl 2 | 39
FI9 1 FTARATHE (oo FHifsu |

[dentify the linkages between primary and secondary activities of
Porter's value-chain model.

How 15 value-chain analysis conducted ¥ Explaim with the help of
an example.

“Strategy  follows  structure. structure strategv.”

Critically analvse this statement.

SUpports

“ferell afde@ &1 99 Iag51 & FW YTATGHS oY Ut i U9
SE g9 T O (;l:'it[“q')) TOT T3 Han Fid| ';F'a' | Ucdeh N hl
AT TUHITA B9 399 3212701 g §9 &2 ol favdl § HHesu |

ST 323U W] 329d I AU [adl, Ush[RU Ud faiadTerior =
IR IO 1 HEE0 | Topd gRfrafqar @ 7 sordaaT e &

fe waiiae 39 F -y

/4

)

~]

~l]

et 1

10

L |

w |

o |
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(1) “Grenerie strategies help a firm to gam and sustain competitive
advantage over s rivals.” Elaborate this statement by giving
suitable examples for cach tvpe of generie strategv. S

(11) loxplain the growth strategles ot expansion, integration and
diversification by citing  suitable  examples.  Under  which
conditions are these strategies most suttable for adoption 7 12

by HFAH® &F h A% YA (Y1.0H ., ) & FhE g0 Teiad vg a6

AT A | 34 IUhHI (Y1.UH..) F ITYH IZREVN HI 3599 R BU AHE H

Hihl <hl AWl &1 3= g iU | #1 A9 444 2 6 390 0 9

d1.U8 .. 1 L0 I F ATHE H1 [0 3= 2 2 39 T FHAT |

O] AU

A number of Public Sector Undertakings (PSUs) are managed and

controlled by the government. Justify the State participation in business

by citing suitable examples from these PSUs. Do vou think that the

covernment’s decision to monetize some of these PSUs s justified 7

(Give reasons to support vour answer. 10+5

¢yt Tazh =E g e fatye feadmen et w1 maEmey

(i) TAETetEd 9o R gEd fgedrn #4918
(A) HId 93
(13) o2l 93
(C) arfurtss diae
(D) hIHAT ST
() &THT 9HTuT-93

(1) Explain the various financing techniques emploved in foreign
trade. 5

(11) What are the main features of the tollowing documents 7 10

Q8. al (1}

(1)

et

(111

HXS-B-MGMT

(A) Letter of Credit
(13)  Bill of Lading

(CC) Commercial Involce

(D)) Consular Involce
([<) Insurance Certificate

A9 UATAd 99 Ud AP Udidd 999§ #H JHEA0 Ug
SGATATT 2 9

r

ST-ATPE T Uad | "itqierd faivd wHTde el @l G980

dfoaes Haareres ar=d (Teared) 9 Aftfad fafya ger &1 gum Fifzo

[
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(1) What are the similarities and dissimilarities between domoestic
operations management and international operations
management ?

T

(1) Explain the various strategic issues involved in international
operations management. 10)

() Describe the various issues involved in global organizational
desien. 5

by ) YEAE ML ($ME2) & = F@ fgem s smfagaw (ug ove o)

ATRITTAT U hY 13 3 7

i) 0 fREl dferd U W ufded dieh | shedT T @99 B 2 3T 39

s e -

<hl HIHA THg C-h||~~i1U.l |

i) =AY WHITqH AT @ F1d32, HE U4 e U femd UMy 98 2 9
. B R S .~
A | 3T 3@ i 35dA A g0 AYTidad R 1 Tae=m Fifsu

(1) Why are mergers and acquisitions (M&As) gaining popularity
among Indian corporates ?

1'\.
]

(11} [s 1t possible to take over a target company in a hostile manner 2
Justify vour answer. >

(111)  Despite comprehensive strategic planning, many M&As do not
vield the desired results. Discuss the possible reasons for the
same, citing suitable examples.

¥

e s . : g = g, o T

() G JTd 73eh 379 HIEIAl Ud IRRYTe fdare] & @nefl @ 2. 599 g

g1, s | Afe Feh AR, 91 BEAT B @vid 2 17 W FUT F ITATF
H, & a3 7q yvdE ffa srem et B ffge - faae
$10 |

(i) e GRS faaer yonedl (f.€vE. ) el @ ve g i 6
AT 2, T Y gg va $9IfNq |r i v @t SHEEm %
LR 7 Fd 4 =T UG g FE YT ki H 121,05, 1 g
Uq 2aTd] 9T 4T chi—ed i U 34 U4 R ATATEACHF  [quelyu]
CAIE 1

(1) “The past decades have witnessed a number of scandals and
sharcholder disputes, all of which indicate lacunae, if not lapses
in governance.” In the light of this statement, discuss the role of
Indian corporate governance framework in responding to these
challenges. S

(1 “While the Public Distribution System (PDS) forms a cornerstone
of government food and nutrition policy, India continues to be
home to a large population of hungry and malnourished people.”

Critically analyze this statement by focussing on the functioning

and efficiencey of the PDS in achieving food and nutritional

sccurity in India.
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